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public class Ex2_1 {
public static void main(String[] args) {
short count=10;
System.out.println("# £ @& # short count="+count+" ,# % (T #E");
int number=20;
System.out.println("s £ & # int number ="+number+" ,¥ ¥ EHcEE");
long value=300;
System.out.println("s' 2 _& ##c long value="+value+" ,¥ F3xfe* hffdc");
float cost=40.2F;
System.out.println("# Z 52 float cost="+cost+" ,¥ % F3cj | #BIE");
double weight=500.34;
System.out.println("\ £ 2 %2 double weight="+weight+" ,¥ F & B edicE");
char key='A"';
System.out.println("# # 3 = char key="+key+" ,7¥ 3 b i plE");
boolean flag=true;
System.out.println(" £ % +k boolean flag="+flag+" ,¥ ¥ 23 4 9vELE");
String name="Tien-Shou Nien";

System.out.println("2 £ 3 ¢ String name="+name+" ,¥ % > F 8 A * ");
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